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T -1/ PART -1

[3]

[A]

a1 g g fenss / CHILD DEVELOPMENT AND PEDAGOGY
R@sr : =i god] % Gav @7 & [T @@ fEd 4w g

Direction : Answer the following questions by selecting the most appropriate option.

1.

fr=ifed & @ @9-A1 MR &N 3 U

gfE ® UF THR TeT & 7

(1) g g

(2) 9l g

(3) e T TOHE i

4) FSIHE g

frifhd & & BF-91 B9 99 &7 € °

(1) g eremar wd oIfeEm aremar
2N g9 Tl E |

(2) A AT A awm B IQ
iYad ®9 ¥ 709 F9 Nl @med |

(3) difh Aerw 18 a¥ & g A @
Bl 2|

(4) SfE®d Fowar T STREH ST
2T & e ST § |
FESMY & [9hE & TR oo
R & AR, ‘A w1 e

frifeeg & & fpm o H gwifed B °

(1) g&q o= (2) geq I

(3) il g (4) T A

TF Al N g= & gy fem & S
Ted 3 Aol U qUihdl Il &1 STl
g 3@l B P B AR 99 At T2 &
dde 9 guiRdr AT 2, 98GRk aiad
g wall TRERE TR B @
2| 93 FT IE FgeR gy e B

(1) w9 ud Ffe gRT AFM P
(2) T AT A

(3) fopan-ugd STgde &

(4) HMEISTR e &

Level-2/3212

1.

Which of the following is not a type of
intelligence as proposed by Gardener ?
(1) Musical Intelligence

(2) Linguistic Intelligence

(3) Logico-Mathematical Intelligence

(4) Creative Intelligence

Which of the following statement is not

correct ?

(1) Intellectual Disability and Learning
Disability are not same.

(2) A child with learning disability
essentially has an IQ score less
than 70.

(3) Intellectual Disability occurs before
age 18.

(4) Intellectual Disability and learning
Disability both are Developmental
Disability.

Which of the following system contains

'Parents Work Place' as per the

Bronfenbrenner's Ecological Theory of

Development ?

(1) Micro System (2) Macro System

(3) Meso System (4) Exo System

A mother gently strokes her infant's
forehead each time immediate before
breast feeding. Soon, she noticed that
each time the baby's forehead is
stroked, he makes active sucking
movement. The baby's behaviour best
describes :

(1) Trial and Error learning

(2) Classical Conditioning

(3) Operant Conditioning

(4) Social Learning

P.T.O.



[A]

freifed & @ @A wF AHwRy

foepra &1 & % Haw § HEl 7 E 7

(1) T8 aicedl & = & 21 ¢ |

(2) T& T > GEd H OAHAA B I
T MeiRg e 21

(3) & ST FE/fpaet & e B R
ge faT gEdl @ "eEdar & QU
Tt HT Tehar ofiX 1 & Wad w9 4
WY Y T B |

(4) 98 3T FA & I=9 G 2 @
qed] AEAAYEE @ad B d &
el 2 |

fr=ifhd § 9 B9-91 %9 T Te 8 7

(1) rEld orgeee UfEss @@eri 8
e 2 |

(2) FRAT-Ugd orjded URsd @EErl |
e 2 |

(3) e IEET fEh e 4
e B |

@) Frorsga ogEE H o ‘gRem
FIHET F T HewdqTl B ¢ |

g 3 fEdET § @F oA w9 Y
PR foar o, 9hg U T e SHe
ST a9 W A O 39 0 e
W uF el a9 geT ) s % 29
TR ATl Hl HET o Gl 8

(1) SE9% AHFIRTT

(2) SEUH fa9es

(3) @d: gAmitd

(4) fota=

fr=ifed ® 9 ®9-9 utew A &
TS fabr @t Uk Tef § ?

(1) afFas
(2) STCHATRLT

(3) STgHe
(4) QT

Level-2/3212

[4]

Which of the following is rot true about

"Zone of Proximal Development' ?

(1) Itisrelated to Vygotsky's Theory.

(2) It sets the upper limit on what the
child is capable to learn.

(3) It is a range of tasks that a learner
cannot perform without help of
others but yet cannot perform
independently.

(4) It is the upper limit of a task that a
learner can successfully perform
independently.

Which of the following statement is not

true ?

(1) Classical conditioning deals with
voluntary behaviours.

(2) Operant conditioning deals with
voluntary behaviours.

(3) Classical conditioning deals with
involuntary behaviours.

4) In operant conditioning,
'consequences’ are important in
framing an association.

Meeta has overcome her fear of toy-

snakes. However on one occasion her

fear returned when she found toy-snake
on her bed. Such return of fear can be
termed as :

(1) Stimulus Generalization

(2) Stimulus Discrimination

(3) Spontaneous Recovery

(4) Extinction

Which of the following is not a process

of Cognitive Development as given by

Piaget ?

(1) Assimilation

(2) Accommodation

(3) Adaptation

(4) Shaping



9.

10.

11.

12.

13.

w B R W aed gfE @
IMET  (Triarchial) fErd & SINGIK
Frfifed & 9 ®E-91 5 #1 6 TH5R
TR ?

(1) fascioomeres gis

(2) IS s

(3) e gi=

@) AR gs

T FAA GH A0 G gomed, ¥ gen
geme, eied & 4 fhE @R @
ﬁﬁwaﬁﬁgﬁmw%?ﬁwﬁa
fomer 9 san ¢

(1) T8I & HAfdehar & TR

(2) yd wieardl Afcbar

(3) aTEIaaTs

(4) A § FE d@99 T 2
Frtifed & | diF-a1 el e 4
e 787 & ?

(1) foees

(2) @ gt
(3) QT

(4) TEUH a9

“TAAT P GETH e & ¥

(1) &gere e

) @ &% 9

(3) o Tho X

(4) Sto o Fedd o

frfeafad & & S9-1 f9heq AT

T AT & ST 7Ef ST & 7

(1) gMiiSTs &7 § SFJHIET Haer &l
IEekll

(2) AHISE B 8 TR qHET
frate &

(3) It g &1 fasr
(4) SACTDET HGET B SFIHIE
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10.

11.

12,

13.

[A]
Which of the following type is not a
type of Intelligence, as given in
Sternberg's  Triarchial Theory of
successful intelligence ?
(1) Analytical Intelligence
(2) Creative Intelligence
(3) Musical Intelligence
(4) Practical Intelligence
The example 'you scratch my back and 1
will scratch yours', indicates which type
of morality as given by Piaget ?
(1) Beginning of Morality of Co-
operation
Pre-conventional morality
Realism

2
3)
“)
Which of the following is not related to
the classical conditioning experiment ?

Not related to moral concern

(1) Extinction

(2) Spontaneous Recovery
(3) Shaping

(4) Stimulus Discrimination

'Autism' was first described by :
(1) Samuel Kirk

(2) Leo Kanner

(3) B.F. Skinner

(4) J. B. Watson

Out of the following alternative which
one is not comes under processes in
socialization ?

(1) Learning to behave in socially
approved way

2
3)
4

Playing approved social roles
Development of social attitudes
Approval of egocentric behaviour

P.T.O.
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14.

15.

16.

17.

18.

19.

9B AT S ARSI & aRe A
g@%&m%ﬁfmﬁmw%ﬁww

(1) TRTHE STHAT

(2) TS ST

(3) SR ST

(4) TS SThe

o9 R & d@emns faee & fMEr

% FPEAN UF e GO & e
Rl TS H Ter & Sl ©

(1) Hadl e oEer |

(2) Y4 SR S §

(3) i Wik e |

(4) Slvene dfpares orawr §
e & APAR, FBT /A
e & ST I B Hahd ©

(1) gd aifesh Aferbar &

(2) U ANfph Afcpar H

(3) ek AAfcrpar &

(4) Afcerd ®1 G

I ¥ & o 9 fawEw Wer &
ge H o §9 3gE H@-uar @
T T B G ABY MY | T fifRg A
giﬁ?&rwaﬁ‘w@ﬁﬁ’aﬁrw
?

(1) 9T (2) &

(3) TEHERT  (4) foREds
Frfifed & @ @d9-a1 oo Qg &
TR’ 1 TF TER TET e 7

(1) oifg FUHAT  (2) Fe

(3) T (4) FH FAFT
g@ F ‘FEag Eia’ (Three Stratum
Theory)ﬁ'EITTI'CIT%:

1) T & 8 (2) 9 % &
(3) P F EW  (4) ded B BN
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14.

15.

16.

17.

18.

19.

The Assessment done during or before
instruction is known as :

(1) Summative Assessment

(2) Formative Assessment

(3) Formal Assessment

(4) Diagnostic Assessment

In which of the following stage of
Cognitive Development, as described
by Jean Piaget, a child become capable
of understanding 'Conservation' ?

(1) Sensory Motor Stage

(2) Pre-operational Stage

(3) Concrete Operational Stage

(4) Formal Operational Stage
According to Kohlberg, Good Boy/Good
Girl orientation indicates :

(1) Pre conventional Morality

(2) Post conventional Morality
(3) Conventional Morality

(4) Relative Morality

Four year old Binny started wetting her
bed after her parents brings home a new
baby. Which of the following type
'defense mechanism' it is ?

(1) Regression (2) Suppression
(3) Rationalization(4) Displacement

Which of the following is not an
example of newborn 'reflexes' ?

(1) Eye blink (2) Sucking

(3) Swimming  (4) Driving Car

The 'Three Stratum Theory' of
Intelligence was given by :

(1) Piaget (2) Binnet

(3) Carrol (4) Cattle



20.

21.

22,

23.

24.

25.

fr=iifhd & @ F9-T1 HUYH GRS @
SRt & & ded ¥ 92 7@ e 7

(1) g8 9Ra=h & a1 ed a9 d Red
B 2|

(2) TE A dadr giharet # dewmar
T B |

(3) T 99T IS H HI BT 2 |

@) T& 9= F I g ¥ g H o

I TFH T AUR TE a1 W@ 2 %
AN gaE 3o & 916 Ie 1 R,
qE TART T T -

(1) 3T &

(2) Godl YsiEe @

(3) HichaTcHh TfcT

(4) gRETed Hid H

ep-gdd’ & ar § Hifed ¥ 9
HF-AT HIT FEl T& & ?

(1) qgaﬁm@am@m%

(2) T® ‘W@ = @’ (Make Believe
Play) & A9 & 91 ST STl 2 |

(3) 3HH U FIRR THIed © |
(4) T8 BHIM JTSced 2l & |

ol TR @ ARy 1 b & g
fepel e SETes b ST A1 bed €
(1) FHNIHE gﬂqw

(2) THBRIHD g"iGIQ‘I"I

3) 3

4 T

7 FHYd [k A, dEr gl

3 ded ¥ fifed & @ 9 gftesior @

gy e © 7 Eﬁ

(1) HTERETE] gRho

?2) Hﬁﬂﬁﬁf@g&ﬂ%ﬂﬁ

(3) ATl ftedhr Fi

(4) GIETEl gfteehIor &l

e TE B B G- drg

d9 ®X H G dee FOK ol
ST B | T8 SEEA ©

(1) FHERIHE e Bl

(2) TERHEG e B

(3) FENIHE & H

(4) THRHE & H

SEIE
G
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20.

21.

22,

23.

24,

25.

[A]
Which of the following is rot true about
the Broca's area of brain ?
(1) Itis located in the left frontal lobe.
(2) It supports grammatical processing.
(3) It 1is responsible for language
production.
It is responsible for comprehending
word meaning.

“)

If a child is sharing with you what he
did after he got up in the morning, he is
using his :

(1) Semantic Memory

(2) Sensory Register

(3) Procedural Memory

(4) Episodic Memory

Which of the following is not true about
dramatic play ?

(1) Itis aform of active play.

(2) Itis known as make believe play.
(3) Itinvolve overt behaviour.

(4) Itis always reproductive.

Presentation of an unpleasent stimulus
to decrease the occurrence of a response
is known as :

(1) Positive Reinforcement

(2) Negative Reinforcement

(3) Punishment

(4) Motivator

The statement 'Personality is nothing
but a set of learned responses', best
describes which of the following view
about personality ?

(1) Behaviouristic view

(2) Structuralist view

(3) Functionalist view

(4) Cognitivist view

The seat belt buzzer of a car, stops as
soon as the driver put on the seat belt. It
is an example of :

(1) Positive Reinforcement
(2) Negative Reinforcement
(3) Positive Punishment

(4) Negative Punishment

P.T.O.



[A]

26.

27.

28.

29.

30.

gl & T B ded H ied # A

HH-A1 FHAT Tel TET 8 7

(1) Ea-fhareli & e g 9o &
Ty HH eI A 2

(2) 9g WG4 & WYY YA HE
QIS B ST 2 |

(3) | T drl @RE e g
e & AL FEdl Il 2 |

(4) Y T & Y T R AN
7§ IUYH B S |

TR/ Heel STl T YRR B

(1) THSF e

(2) STEETH SFeTHT I

(3) AfGH A F

(4) gfte e &

fifhd § | fopd gieehior &l I8 [

2 % o faem us daqq ufea 7@ R 7

(1) s &1 daTeees 9 &1 s

(2) FIERAE
(3) TR A Rara
(4) unRafder 4 fer

[8]

26.

27.

28.

29.

30.

Knowing 'how to ride a bicycle' is an
example of :

(1) Procedural knowledge

(2) Declarative knowledge

(3) Explicit knowledge

(4) No option is correct

During the developmental period of
foetus' head is well developed before his
legs. This best describes which of the
following tendency of development ?

(1) Proximo-distal
(2) Cephalo-caudal
(3) Uniformity
(4) Integration

Which of the following is rot true about
children's play ?
ey

The number of play activities

decrease with increasing age.
(2) Play becomes increasingly social
with increasing age.
(3) The number of playmates increases
with increasing age.
“)

Play become
appropriate with increasing age.

increasingly  sex-
‘Dyscalculia' is a type of :

(1) Locomotor Disability

(2) Learning Disability

(3) Intellectual Disability

(4) Visual Impairment

Which of the following theory assumes
that Child Development is
continuous process ?

ey

not a

Cognitive Development theory of
Piaget

(2) Behaviourism
3)

“

Social learning theory

Ecological system theory

Level-2/3212
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HRT — 11/ PART - Il
A (R= ©d $i3sh) / LANGUAGES (HINDI & ENGLISH)

[ &=/ HINDI ]

3T : =it ged] & 37 @7 % [ qe98 ST [weT g

32.

33.

34.

‘Fhgs’ a= | |y ®
(1) @< 9 (2) UM Hfr
(3) foeet =y (4) <o Hiy

e gite 8 g fahed g
(1) fergar (2) dioten
(3) ferTeT (4) @

fopg are H geE Uesd & OSERT gl

g7

(1) W e § 9 @2 999 W T8
TedT |

2) Redl 4 @d 2@ ard gar |ie
Tl T TeaH |

(3) T F d@m & TEEN, V-
TGOT Hl HX STl |

(4) dredl |t & fr, W T2 Qo
EEUREIN

g arm d ‘gemel gRv @ TN geM

g7

(1) 299X FRI Al &1 |

(2) 9T TE YHXOT i ST |

(3) @ & 39 a9 gg au &

(4) I I8 gear ar AT 9% 1 S |

Level-2/3212

35.

36.

37.

P A H A AL @ S
g & 7

(1) 9 &9 T T 7B F2l © |
(2) S AR @1 & IW =X GRAAl |
(3) TH BRI & fow B f6ad o e
(4) BB T B, FB H H&T

‘qe TR foEar @Il ae d ugE
fopa fqQITer 1 9% 2R T

(1) hreareen fpar fasor

(2) e foham fLroor

(3) TATE fopar fasier

(4) gRHTErEE R faeer
STGIT HIT Bife -

(1) 96 % q &l I awcll HJAo —
&

(2) RITET & Ues P qHE — YAiE

(3) 8 [WHE TR @ & U -
AEH

(4) SIRT TR TG — el

P.T.O.
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38.

39.

40.

41,

ogE A AT

(1) 8 st g5 oAM= & A9
gl |

(2) T@ # #3 9T @ 2|

(3) T8 BEGM &ad BERl & fu 8|

(4) ¥ T 7O L FHTAT AR E |

fora fomea o ageT w9 7@ 7
(1) argEngd
(2) digfe
(3) IUFEA

(4) ey

/9 & 9 59 fodeg § B8’ @1 9T
T ?

(1) s
(2) T
(3) &=
(4) T

g Y ara foeked g
(1) 9% + 39 = Hewd
2) fo=d + 9@ = a9y

(3) dq + IUTd = TR

(4) 9 + AIqH = TSI

Level-2/3212
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42.

43.

44,

45.

dW-qa9a & gfe 4 oo faecd
gﬁﬂ'{:

(1) ardie — S

(2) EHaT — el

(3) TS — AT

(4) v — Al

fope fohca | & TR BT AT 78T gl
g7

(1) |rr

(2) |EIHAT

(3) JTogEr

(4) |y

=1 d @ e g

(1) WHgE & O em@n o 2|

(2) M ER/T HEHI GAE TE |

(3) FA A [ A B |

(4) fFamt B wad #e o TE 2|
= & ‘Hepr o=’ b faee § FEf R 7
(1) fosmoear

(2) S

(3) AT
4) feieB
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[A]

[ 3735 / ENGLISH ]

Direction : Answer the following questions by selecting the most appropriate option.

46.

47.

48.

49.

Fill in the blank with appropriate
preposition :

We're going for a drive ........ the
country.

(1) on (2) at

(3) in (4) for

" He wore a turban made of silk."

The underlined words are :
(1) Adverb

(2) Adverb Phrase

(3) Adjective Phrase

(4) Noun Phrase

"There is a mystery about his death and
the police are looking into it."

The underlined phrasal verb means :
(1) To investigate

(2) To take care of

(3) To look behind

(4) To revise quickly

Fill in the blank with appropriate

preposition :

We stayed ................ Mumbai for
five days.

(1) in (2) at

(3) into (4) by

Level-2/3212

50.

51.

52.

53.

54.

Hearing the noise, the boy woke up :
(2) Noun
(4) Participle

(1) Pronoun
(3) Verb

"They arrived soon after."
The word 'after' is used as :
(1) Preposition  (2) Adverb

(3) Adjective (4) Conjunction

Fill in the blank with appropriate

conjunction :

Grievances cannot be redressed
................ they are known.

(1) unless (2) and

(3) but (4) before

Choose the most appropriate modal for
the blank :

When I was young, I

................

climb any tree in the forest.
(1) can (2) must

(3) may (4) could

Choose the correct verb for the blank
from the options below :

The earth ................ round the sun.
(1) move (2) moved
(3) moves (4) shall move

P.T.O.
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55.

56.

57.

Choose the correct answer from the

options below :

"I took it home with me", She said.
(1
(2)

She just took it home.

She said she had taken it home with

her.

She said she would take it home.

3)
“4)

She said she will take it home with

her.

Choose the correct passive construction

for the given sentence.
They were carrying the injured player

off the field.

(1) The injured player
carried off the field.

was being

(2) The injured player will be carried
off the field.

(3) The injured player must be taken
off the field.

(4) Carry the injured player off the
field.

Fill in the blank by choosing the correct
option :

Heis ....coouenene. his glasses.

(1) look for

(2) look

(3) looking for

(4) will look

[12]

58. Choose the correct word for

following expression :

One who makes maps or charts.
(1) Cartoonist
(2) Cartographer
(3) Choreographer
(4) Choirmaster

59.
option :

I have not heard the

.........

news.

(1) latest
(2) late
(3) latter

(4) later

60. Choose

correctly :

the word which 1is

(1) Disentigration
(2) Disintegration
(3) Dissintegration

(4) Desintegration

the

Fill in the blank with the correct

.......

spelt

Level-2/3212
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[A]

HET -1/ PART -1l
qHE 31991 / GENERAL STUDIES

[ AT qRgdT, dliche AT ol €M 319 U9 S1FsTM / QUANTITATIVE
APTITUDE, REASONING ABILITY AND G.K. & AWARENESS ]

A@sr : =i god] % Gav @7 & [T qae S [ g

Direction : Answer the following questions by selecting the most appropriate option.

61.

62.

63.

64.

o frdl ®E @ 2 R # war ® oI
fig 28 6 &9 & &war 21 3 et
fre el ® 39 & @ e ?

(1) 2/3 &&F

(2) 32 f&d

(3) 5/3 A

4) 3 A

20 U] T 25 T & g 324 o T,

e a/m % 71 8, @ 20 99 & &
o s € 7

(1) 124
(3) 200
T2 & T demdel § f5ay 6 19§ %

Ud% b 3% Ued 1 A S5 S B
3w 9 § 331 997 & 7

263756429613416391569231654321967

(2) 140
4) 210

) @
4) I

(1) T
3) a+

Fie "BORN" &I "APQO" %< f&al Sl
2, "LACK" & "KBBL" #c fHar s
g, @ "GRID" &I %z fam ST :

(1) FSEH (2) SFHE

(3) FSHE (4) FHSE

Level-2/3212

61.

62.

63.

64.

Amulya does a piece of work in 2 days
and Bindu does it in 6 days. In how
many days will the two do it together ?

(1) 2/3 days

(2) 3/2 days

(3) 5/3 days

(4) 3 days

A total of 324 coins of 20 paise and 25

paise make a sum of ¥ 71, then number
of 20 paise coins is :

(1) 124 (2) 140
(3) 200 4) 210
How many 6's are there in the following
number

immediately preceded by 1 or 5 and
immediately followed by 3 or 9 ?

263756429613416391569231654321967
(1) One (2) Two
(3) Three (4) Four

series, each of which 1is

If "BORN" is coded as "APQO" and
"LACK" is coded as "KBBL", then
"GRID" will be coded as :

(1) FSEH (2) SFHE
(3) FSHE (4) FHSE

P.T.O.



[A]

65.

66.

67.

68.

s fofegaR ® R wd O 2, T
FH W IH A B G 80 B el
Sl A @ dE 200 ¥ 98 69X
1 Hem e ® 7
(1) 20
(3) 52

(2) 40
4) 60

e B HE-A1 G B T TR B

e 8 7

2,14, 16

1) 2,7,8

2) 2,9,16

(3) 3,21,24

4) 4,16, 18

YT

L 9+ Raagl S 2|

II. %8 i Hiae 2 |

sy :

I %8 Sl gl & ary-are Gias
e

I &+ Ffs S 2 |

o = | de gel B 7

(1) #ad Fehy 1 FFaT B ¢ |

(2) Fad py 11 AERST &L 8 |

(3) @M R [ I STaReT & © |

(4) 7 MR 17 & 11 SFFERT & ¢ |

AT+ P A L, X A

H AT '+ A - Foardd X @, ar
16-8X6-2+12="7

(1) 22
() 24
(3) 23
@) 120

Level-2/3212

[14]

65.

66.

67.

68.

There are deer and peacocks in a zoo.
By counting heads they are 80. The
number of their legs is 200. How many
peacocks are there ?

(1) 20 (2) 40
3) 52 4) 60

Which set of numbers is like the given
set ?

2.14.16
1 2,7,8
2) 2,9, 16
(3) 3,21,24
@) 4,16,18

Statements :

I. All players are doctors.

II. Some doctors are musicians.

Conclusions :

I. Some doctors are players as well as
musicians.

II. All musicians are doctors.

Then which of the following is correct ?

(1) Only conclusion I follows.

(2) Only conclusion II follows.

(3) Both conclusion I and II follow.

(4) Neither conclusion I nor II follows.

If '+ mean '+, 'X' mean -,
mean '+ and - mean 'X', then
16 +-8x6-2+12="7

(1) 22
() 24
3) 23
4) 120

1t



69.

70.

71.

72.

73.

74.

A BH T % C,B&H 1 8, D, C
H TS, EEDHAGIE, ¥ AH DA
N T 8 2

(1) I
(3) &I/

(2) Hriar
(4) FEI/AE

=T 2o T STl 92 ST hifeTe
0,5,22.57, 116, ?

(1) 205
3) 192

2) 216
4) 207

TF o % qN 917 B, I 349 16 @i}

T IR ) R S 2, a9 -g qrT

WS 8, Al < B KT &l B

(1) 24deX (2) 35X

(3) 38X (4) 42X

THh A9 gy H faww R @ genm e
B ® 7
(H 0
3) 2

g8 BIE ¥ BId 9@ T @i, forad
12, 15, 20 31X 54 & 9N 39 W YIS

2) 1
4) 3

Z9M % 8 T B :
(1) 504 (2) 540
(3) 546 (4) 548

I A & T B H AT T 40% FH
A B H AT A B AT fhaw ufaed
afferes & 7

(1) 25% (2) 40%

3) 33%% @) 66%%

Level-2/3212
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69.

70.

71.

72.

73.

74.

[A]

A is B's sister, C is B's mother, D is C's
father, E is D's mother, then how is A
related to D ?

(1) Daughter (2) Mother
(3) Grand Mother (4) Grand Father

Find the next term of the following
series :

0,5,22,57,116,?
(1) 205
3) 192

2) 216
4) 207

A tank is % part full. If 16 litres of water

is added to the tank, it becomes gpart

full, then total capacity of tank is :
(1) 24 litres (2) 35 litres
(3) 38 litres (4) 42 litres

What is the number of odd days in a

leap year ?
(H o 2) 1
3 2 “4) 3

Find the least number, when divided by
12, 15, 20 and 54, leaves in each case a
remainder of 8 :
(1) 504
(3) 546

(2) 540
4) 548

If A's income is 40% less than that of B.
How much percent B's income is more
than that of A ?

(1) 25% (2) 40%

3) 33%% @) 66%%

P.T.O.



[A]

75.

76.

77.

78.

79.

80.

q8 Bl 9 Bl 9@ #q Fie ed
294 1 O FTh Th YO @ qEA S
ST S 7

(1 3 (2) 4
3) 6 “4) 12
g et 224 2 g O @ e am
5°8°9°13 11
w9 T Fafted & oiar 2 @ 9 e
W HH-8 9= 2rf 7
3 4
(1) < Q)-§
5 6
3) e (4)33

JeH A g gened & efed e

(1) 8 2) 9

1 2
(3) 87 “4) 87
ST HI FT HIOT
(1) EINO (2) HMQR
(3) KPSU (4) NSWX

ST AT I BT AT G WS
120 fopHi/aeer @t TIfq @ QT STem wRT
FR SN 80 fpHI/Aver & T | T Ha
g, @ SH@H qad T Fv R ?

(1) 88 frdiaver  (2) 92 fepHi/auer
(3) 96 fRHETeE  (4) 100 feRHi/aver

I 11 g 10 599 § TR og & g
10 g 11 593 § 59 &9 &, af &
ufqerd 2 -

) 1%
(3) 25%

2) 21%
4) 28%

Level-2/3212
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75.

76.

77.

78.

79.

80.

Find the least number by which 294
must be multiplied to make it a perfect
square.

(H 3 (2) 4

3) 6 @ 12

If the fractions ggii and 6 are
589 13 11

arranged in ascending order, which one
will be fourth place ?

3 4
(D 3 Q)-§

5 6
3) 3 (4)13

Find the average of first seven prime

numbers.

(H 8 2) 9
1 2

3) 87 (4)87

Find out the odd-one :
(1) EINO (2) HMQR
(3) KPSU (4) NSWX

Arjun travels half of his journey by train
at the speed of 120 km/hr and rest half
by car at 80 km/hr. What is his average
speed ?

(1) 88 km/hr
(3) 96 km/hr

(2) 92 km/hr
(4) 100 km/hr

If 11 oranges are bought for Rs. 10 and
sold 10 oranges for Rs. 11. What is the
gain in percentage ?

(1) 11% (2) 21%

3) 25% 4) 28%



81.

82.

83.

84.

85.

?W@W%ﬁﬁwﬁﬂﬁ
?

(1) && ¥ (2) #re A

(3) =Fgem | 4) T 4
Frfafaa Raenfedl & & fres gaul @l
800 Hiex qs ¥ TREE @9 — 2018 #
@l qad S

(1) e S

(2) Aeid T4

(3) SWU=X f&E

4) TH HAR

BT HT & SN 9 Hemhi § A
& 99 & % ARG A S 4

(1) @t (2) T
(3) T (4) FEaA

el Rl & 9] H i wee

W e #ifT

(a) Seq AT § dewed @ |

(b) SN T | AT HUT & TIH
A H 9T o

gc@aﬁ 4 8 IF-AUBHE-E HI TF o

F 7

(1) Fad (a) T 2|

(2) Fadt (b) TF 2|

(3) 7@ (a) R T & (b) TA B
(4) TN (a) 3 (b) T Z |

el 91 R 1949 A % NN
IYEE & 9NY § FRYGR feam & -

(1) 678 THT
(2) T €@

(3) R el
4) FEE @

Level-2/3212
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81.

82.

83.

84.

85.

[A]

Where the Vulture Conservation and
Breeding Center situated ?

(1) Kairu (2) Morni

(3) Zhabua (4) Pinjore

Who among the following athletes won
the Gold in Men's 800 m. race at Asian
Games — 2018 ?

(1) Jinson Johnson

(2) Manjit Singh

(3) Arpinder Singh

(4) Rakesh Kumar

The area of Haryana, which was
considered under the sphere of
influence of Bhadanakas during the Pre-
medieval period :
(1) Rewari
(3) Panipat

(2) Ambala
(4) Kurukshetra

Consider the following statements about

Lala Murlidhar :

(a) He practiced Law at Ambala.

(b) He attended the first session of
Congress held at Bombay.

Which of the above statement/statements

is/are true ?

(1) Only (a) is true.

(2) Only (b) is true.

(3) Neither (a) nor (b) is true.

(4) Both (a) and (b) are true.

The Wahabi leader, who was arrested in
charge of Sedition during 19th
century :

(1) Muhammad Zafar
(2) Ghazzan Khan
(3) Mubarak Ali

(4) Salman Khan

P.T.O.



[A]

86.

87.

88.

89.

90.

Fr=fafad &1 gAferd it
AeE B foram
A. Eo 3Eo Mo Ho (1) ed®
B. 3Eo 3o WHo (i) GG
C. THo Mo Elo (iii) e
D. TJo 3Bo Who Tlo  (iv) FHH&A
e e P
A B C D

(D (i1) (1) (i) (@v)

() (i1) (1) (v)  (ii1)

(3) (iv) (1) (i) ()

“4) (1) () @) @1v)

Foe o # fohae a=etig ot 2 7

(1) a (2) dF
3) T 4) T

Freffad & @ #9-8 B & d99 &9
e STEE B 7

(1) Hard (2) TE=TE

(3) difg (4) fawan

% T O w5 & aR ° fefaiaa

FIA W =R Fife

(a) T ‘A UNOXd THREd’ & &9 §
off ST ST B |

(b) & g 4 TFPE M W UE T
el 1 faera fomar ST |

SEE § 4 FE-A/ERE BT &Y
Bl ?

(1) ad (a) TF B |

(2) Fad (b) TF 2|

(3) Tl (a) R T 2 (b)TH |
(4) T (a) 3 (b) T B |

g § frd dedia € ?
(1) 71 (2) 93
3) 76 4) 68

[18]

86.

87.

88.

89.

90.

Match the following :

Education Institute District

A. LLLT. (i) Rohtak

B. I.1. M. (i) Sonipat

C. N.L.D. (iii) Punchkula
D. N.LF.T. (iv) Kurukshetra

Choose the correct code :
A B C D

H G O @) (v
@ @ @O  (Gv) (>{i)
@ Gy @O @) @G
“4 O @ ) v

How many Wildlife Sanctuaries are
there in Jhajjar district ?

(1) Two (2) Three

(3) One (4) Four

Which of the following districts has the
lowest urban population ?

(1) Mewat (2) Mahendragarh
(3) Jind (4) Sirsa

Consider the following statements about
KMP Expressway :

(a) It is also known as Western
Peripheral Expressway.

(b) Five new cities will be developed
along with the KMP Expressway.

Which of the above statement/s is/are
true ?

(1) Only (a) is true.

(2) Only (b) is true.

(3) Neither (a) nor (b) is true.
(4) Both (a) and (b) are true.

How many Tahsils are there in Haryana ?
(1 71 (2) 93
(3) 76 4) 68

Level-2/3212
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[A]

AT - IV / PART = IV
QST HHF / SOCIAL STUDIES

3T : =it gea] & 7 @7 % [ qe98 ST [dweT g

Direction : Answer the following questions by selecting the most appropriate option.

91.

92.

93.

94.

AT (SAIL) T o1 ® -

(1) 9RO € miEeeT fafies

(2) g R I e

(3) aferor ofiEng fae fafes

(4) &0 @ B T

gP?ﬁ%b_d 9 FA-a 98 gAa 78

I - ICEIC]
ICEIEECY|
BT
(1) 76 — ARd & AEIHAmRE]
() 148 - 9Rd %I &= ug
HERTEl qiierh
(3) 324 - AXG ® fErE SR
(4) 337 - A oggEd S
AT

Frefafad & § FM-a1 AE-2wd g5
w4 & 9edrT &} faeiaa e e ?
(1) fosimT e |

(2) TSN @ H@IF

(3) Teme zeur |

(4) FYT FEqq HH

FIABIE § HIAgY @ IEE ©

(1) qB-TTF & (2) SRS
(3) ATF & (4) O B

Level-2/3212

91.

92.

93.

94.

'SAIL' stands for :

(1) Steel Authority of India Limited
(2) Small Agricultural Industry Limited
(3) South Asian Investment Limited
(4) None of these

Which one of the following is not
correctly matched ?

Article of - Provision

the Indian

Constitution

(1) 76 — Attorney-General  of
India

(2) 148 — Comptroller and
Auditor General of
India

(3) 324 — Election Commission
of India

4) 337 — National Commission
for Scheduled Castes

Which of the following Iron and Steel
Plant has been developed with Russian
Collaboration ?

(1) Vizag Steel Plant
(2) Rourkela Steel Plant
(3) Bhilai Steel Plant
(4) Durgapur Steel Plant

Kalahandi and Sambalpur are leading
producers of :

(2) Bauxite

(4) Gold

(1) Iron-ore
(3) Mica

P.T.O.



[A]

95.

96.

97.

98.

Frreafeieae & IF-a1 g™ Ja7 © ?

(1) =hard - &= HeErR

(2) focli-fader — ufyem effedforan

(3) TR B G R IN

(4) B — 3Tedlve® HeEN
Frafafad & | ®F-a1 gafaa 787 © 7
IMfI=hRH FHT SAHR

(1) e o ~ 9 g
(2) I AR — i HET
3) U9 da  —  uggel @ T
gare bl
RERICA
(4) SffefR I - (HE® @R

frifed & @ M-8 foe ‘@ea= &
fafarse o1 s @ geafeg 2 7

L gidi®

L. WA

. T%h

v. 2fee ;j?{

&l feaehe ¢

() LI wd I (2) I, 1T IV
3) LUt IV (4) Mg IV

ad, forad st @ 9ERr R A
FROAR foham & o -

(1) 1920 (2) 1934

(3) 1922 (4) 1944

Level-2/3212
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95.

96.

97.

98.

Which of
incorrect ?

the following pair is

(1) Cyclones — Indian Ocean

) willy-
Willies — Western Australia

(3) Typhoons — East Atlantic Ocean

(4) Hurricane — Atlantic Ocean

Which of the following is not correctly
matched ?

Inventor Agricultural
Inventions
(1) Jethroo Tull —  Seed Drill
(2) Charles — Rotation of Crops
Townshend

(3) Robert Bakewell — Technique to improve
breeds of live-stock

(4) Arthur Young - Chemical Fertilizer

Which of the following thinkers are
related to 'Elite Theory of Democracy' ?

I.  Schumpeter

II. Pareto

III. Mosca

IV. David Truman

Correct option is :

(1) LIand T (2) I, T and IV
(3) LMl and IV (4) T and IV

The year, in which Gandhiji was
arrested for the charge of sedition :
(1) 1920 (2) 1934

(3) 1922 4) 1944



99.

100.

101.

102.

103.

Jafif, MR g el Teliedl W
g AN ar] FHIAST 99 Fead ©

(1) gHIa a

(2) el &=

(3) TE ad

(4) gt a9

ICAR ® :

(1) ziveaw Hefad o o fad
(2) 3Fsa FAE A% iR Ry

(3) 3iea HMfdEe e ed

(4) 3T Heaa 3% Tieey RHd

ufcreafer o & g ® 7
(1) NNP x S¥geEm
(2) NNP = S9geEm
(3) SVEEAT - NNP
(4) A Yt + NNP

g [aiEs qUed WRA H HeweH
fepam T et

(1) ARAE UReg AEEE, 1892 a1
(2) ARCE UReg SARFEE, 1909 &R
(3) WRd TN AT, 1919 2/
(4) 9T AR AT, 1935 210

LIEGHE| YA B e
g&ul W e @l der 6|

(1) 100 (2) 1,000

(3) 10,000 (4) 1,00,000

Level-2/3212
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99.

100.

101.

102.

103.

[A]

The temperate forests in Nilgiri,
Annamalai and Palani hills are known
as:

(1) Punit Van

(2) Shola Forests

(3) Mangrove Forests
(4) Saranda Forests

ICAR stands for :

(1) Indian Council of Agro Research

(2) Indian Committee of Agriculture
Review

(3) Indian Commercial and Agro
Research

(4) Indian Council of Agriculture
Research

What is the meaning of Per Capita
Income ?

(1) NNP x Population
(2) NNP =+ Population
(3) Population = NNP
(4) Total Capital =+ NNP

The Separate Electorate was first

introduced in India by :

(1) Indian Councils Act, 1892

(2) Indian Councils Act, 1909

(3) Government of India Act, 1919
(4) Government of India Act, 1935

In India sex ratio refers to the numbers

of females per .............. males.
(1) 100 (2) 1,000
(3) 10,000 (4) 1,00,000

P.T.O.



[A]

104.

105.

106.

107.

108.

Siee FHAr B = e TEgd
g7

(1) focest wigiw

(2) HIEeheT dTeaTy

(3) TR At

(4) Tho To &4%

frfafeg § @ PF-H tF erferawan &
FE THE 78 2 7

(1) & I &

(2) P9 I &

(3) e el @

(4) fres T S @

Frefafad & @ &-d1 gear 3eal &
1848 I I~ & IR aAfed 78 &3 °

() 9 il & & S0l B AR
TR |

(2) Tooe == § 9fgr & @vom |

(3) T H TS YRR B DN B
ST |

(4) feas gy W aieHar T &
STTHAT |

qRg § ‘eAf<aq Forear & § ?

(1) THo dlo &fEo (2) Ro do ARo
(3) e (4) &

FrTifhd ® & T8 foaRe @1 98 AW
g 6 Tgae fafire w9 @ emytERar @
SS el I d AT & qdl
JEEA B 7

(1) smfede det@d

(2) I AT

(3) F T

4) Begdm

g
T

Level-2/3212
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104.

105.

106.

107.

108.

Who has given the idea of 'Complex
Equality' ?

(1) Milton Friedman

(2) Michael Walzer

(3) Isaiah Berlin

(4) F. A. Hayek

Which of the following is not a central
problem of an economy ?

(1) What to produce

(2) How to produce

(3) Maximize private profit

(4) For whom to produce

Which of the following events did not
occur during the Italian Revolution of
1848 ?

(1) March of Red Shirt group to-wards
Naples.

Proclamation of Constitution in the
Kingdom of Sicily.

2

(3) Announcement of Republican form
of government in Rome.
(4) Attack on the Austrian Empire by

the kingdom of Sardinia.
Who is the "lender of the last resort" in
India ?
(1) SBI
(3) NABARD

(2) RBI
(4) SEBI

Which one of the following thinkers
believes that Nationalism is an
expression of cultural and social
mechanisms peculiar to modernity, such
as modern communications ?

(1) Benedict Anderson

(2) Earnest Gellner

(3) Karl Deutsch

(4) Hobsbawm



100.

110.

111.

112.

113.

114.

f3Tarsi @l el 1aE dHearr o ¢
(1) g% (2) famm
(3) MEERr (4) TR

Pl YRR & ST H T e
P A B & e Ieaed H§ IHH

e O BT § °
(1) =% (2) 5w
(3) =TSR (4) AFHE

Friiig geiell ol FIRTEhAER

Fafed HIfTT

() dad Ao W e B R

|

(i) R e AT H AR |

(iii) BfeMe M H1 SR |

(iv) R T BRT ‘U FHEErEl Raw
T AT S |

(1) @v), (i), (@), @ (2) @), (ii1), (1), @v)

(3) @, @), (i), Gv) @) (@), (iv), (D), (i)

PH-AT q§ WRA H SHEET § e

fqare & w9 § S S §

(1) 1921 (2) 1931

(3) 1951 (4) 1991

1857 3o & ©u¥ @ fr=fareq gemel

Pl FTHAGAR AR HISTT -

(A) AT H fase

(B) w&% H =8

(C) =il & fagie

(D) TEREE ¥ fqzie

(1) D,A,C,B  (2) A,D,B,C

(3) C,B,A,D (4) B,C,D, A

SO 2011 (3o SifRS) & STgER

ARG & 59 9 Afee ARl & 8

(1) 80.89-64.64 (2) 81.89 —63.64
(3) 80.69-64.24 (4) 81.89 -63.63
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109.

110.

111.

112.

113.

114.

[A]

The royal cavalry of Shivaji was called :
(1) Bargir (2) Risala
(3) Silahdar (4) Dabeer

In which type of unemployment a
person is apparently employed but his
contribution to the production is almost
nil ?

(1) Chronic
(3) Structural

(2) Disguised
(4) Seasonal

Arrange the following events in

chronological order :

(i) Shimla Conference to discuss
Wavell Plan

(i) Mutiny of Royal Indian Navy
(iii) Arrival of Cabinet Mission

(iv) The 'Direct Action Day' observed
by Muslim League

(1) (@), (i), (), @ (2) @), (i), (), (v)
3) (@), (), (1), Gv) @) @), @), (iid), (i)
Which year is known as year of great
division for India's population ?

(1) 1921 (2) 1931

(3) 1951 4) 1991

Arrange the following events of the
struggle of 1857 in chronological order :
(A) Uprising in Meerut

(B) Uprising in Lucknow

(C) Uprising in Jhansi

(D) Uprising in Nasirabad

(1) D,A,C,B (2) A,D,B,C

3) C,B,A,D & B,C,D,A

The male and female literacy rate of
India as per Census 2011 (Final data) is :

(1) 80.89 -64.64 (2) 81.89 —63.64
(3) 80.69-64.24 (4) 81.89 -63.63

P.T.O.



[A]

115.

116.

117.

118.

fr=iifhd & 9 H9-9 GHE ET YOl

& T & ?

I Hfge % gdread |

. 999 %5 T4 99 & HEd & 49
QIR 1 fereeeT |

Il fE-9eaqs G99 fquifFer @&
SARTA |

78 foeeT ®
! g 11 2) I g III
G) LIw M (4) 1t I

(1) g &
(2) 59 g FHHT |
(3) & |
4) |9 |

G SEHEMT B (T SEE Aa)
qreTaa fpe foame & wafed § ?

(1) e

(2) T AR

(3) % wiE

(4) LI

FAH B

(1) fedmr e

(2) U@ 99 & HeM

(3) STY-HWIX &I T ST

(4) TEATE URST U T ga
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115.

116.

117.

118.

Which of the following are the
characteristics of Federal Government ?

I.  Supremacy of the Constitution.

II. Distribution of powers between the
Federal Centre and the federating
units.

III. Presence of Bi-cameral Federal

legislature.

Correct option is :
(1) Tand II (2) II and III

(3) LIIand I (4) Iand III

'Bardoli Chheerha' are local storms
occurring in :

(1) Tripura

(2) Jammu and Kashmir
(3) Karnataka

(4) Assam

The terminology 'one dimensional man'
related to which thinker ?

(1) Habermas

(2) Herbert Marcuse

(3) Erich Fromm

(4) Althusser

Karewas are :

(1) Glacial deposits

(2) Tropical grasslands

(3) A tribe of Jammu and Kashmir

(4) A local wind of Himachal Pradesh



119.

120.

121.

122.

frfafad oo aa @l e

goUdodlo & T FH AN YA B,

PITHATTHN AR FHIo

(i) HiER THEE

(i) BT aE

(iii) T A% g

(iv) TRl g

1) @, Gi), Gir), Gv) (2) (i), (@), (iv), (i)

(3) (), (i), (i), @) @) (@), (id), (i), (iv)

fr=rifhd § #F-8 SER diedd & e

g7

[ U @ 3% ToHiias &l § Tois
o % o ger e |

II. {oHifas us fedl faQwfaerd o
T IREiHd | 2

. 9o a9 Hadlas 97 omenid
ERREAIREACRIEN

IV. ST ~raaTfere |

7ef foea 2 -

(1) LI 11

) LT IV

IRA & WEUM B HE-AT s

U 9% FHelaNT I &l UEear 9

Gefe 2 7

(1) 58 (2) 59

(3) 60 4) 61

g{%ﬁiﬁwﬁmaﬁraﬁﬁmﬁaﬁ

2) 1,17 IV
@) LTI TE IV

(1) G FHIIE AR Bl
(2) g FAGEN TT-T-9ThT
(3) g THEEH

(4) 9 P
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119.

120.

121.

122.

[A]

Chronologically arrange the following
International Conferences, which paved
the way for the formation of UNO :

(i) Moscow Conference

(i1)) Teheran Conference

(ii1) Dumbarton Oaks Conference

(iv) Yalta Conference

(D @, @), (i), Gv) (2) (), @), @v), (i)

() @), (i), (), (@) (4) (@), (i), (), (iv)

Which of the following are the

characteristics of Liberal Democracy ?

I. More than one political parties
freely competing for political power.

II.  Political offices not confined to any
privileged class.

III. Periodic  election based on
universal adult franchise.
IV. Dependent Judiciary.

Correct option is :
(1) Land III (2) I, and IV
3) LIIand IV (4) II, III and IV

Which Article of the Constitution of
India is related to the procedure for
impeachment of the President ?

(1) 58 (2) 59
(3) 60 4) 61

The Sufi Saint whose Dargah is situated
in Ajodhan :

(1) Sheikh Kutubuddin Bakhtiyar Kaki
(2) Sheikh Fariduddin ganj-i-Shakar
(3) Sheikh Nasiruddin

(4) Sheikh Nizamuddin

P.T.O.
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123.

124.

125.

126.

127.

fadl I8 2 -

(1) & & S

2) = B

(3) daagd g Yl % HeA Rerd U8
4) 94 4 gz T W & Hg Rud I8

AR B

(1) gra gl T § e gl W
|

(2) 59 gl g4 & Febead gl W & |

(3)§agezﬁawﬁafﬁaﬁﬂgﬁw
|

(4) 9 gl gd @ Ak gl WA |

gl & oM & ST 99 @ Fed o
(1) 9 aa@ (2) FBRT &9
(3) FRATE  (4) TEAERT

@ 3 T ISH AHH ©

(1) fa=Tt Tosar &

(2) ST @ g & H

(3) T@T HUSal &l

(4) TH SAEHE B

‘A % gy ¥ frifed & 9 Be-

A %o ga@ 2 7

I. qu%rw 1967 %1 &2 i
TSN, FeE, i, R

T AEeE 3EF A 9§ |

1L aﬁﬂwﬁ T & el a9l @
T 103 |

7 faeeg 2 -
(1) 1Twg II (2) 1Tg 111
(3) 11 T4 11 4) LI 11
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123.

124.

125.

126.

127.

The inner planets are :

(1) Satellites of planets

(2) Gaseous planets

(3) Planets between Sun and Earth only

(4) Planets between Sun and Belt of
Asteroids

Aphelion is :
ey

When the earth is nearest from the
moon.

When the earth is nearest from the
sun.

2)

When the earth is farthest from the
moon.

3)

When the earth is farthest from the
sun.

“)

The force exerted by rotation of the
earth is known as :

(1) Nuclear Force (2) Spring Force
(3) Coriolis

Tong Walk to Freedom' is
Autobiography of :

(1) Winnie Mandela

(2) Aung San Suu Kyi

(3) Nelson Mandela

(4) Barak Obama

(4) Gravitational

the

Which of the following statements are

correct, in context to '"ASEAN' ?

I. It was created on 8 August, 1967.

II. Indonesia, Malaysia, Philippines,
Singapore and Thailand are its
founding members.

III. At present there are 10 member
countries of 'ASEAN'".

Correct option is :

(1) Tand II

(3) II'and III

(2) T'and III
(4) I, Iand III



128.

129.

130.

131.

132.

fiTgs | wtead Mg § d de-ar
W el gAla 7@ ¢ °

Gl geT
(1) 1947 — =39 frar
(2) 1954 - U 1 T
(3) 1955 - TR Y N e
4) 1957 - W Gifagd 99 &

Y

W H Yl ARG F aed R
orae § o 7

(1) =i fae

(2) STHAMEY

(3) I~

(4) wiaed fae™E

“B wHA 2 H A Rl @ Hend
Bl U, X Al 7Y &9 % a9’ e

FE B TR AER B T HET
IE G [haH & °

(1) JFo Jo ®A  (2) T
(3) o THo @ (4) &F T

U Sfqel T ok S9ndr & f% AN @
SIERCUIE

(1) 3HE & TEY (2) THE T HY
3) 9= (4) o=

T G & S d U e
IrAEERROT ST e oF] g

(1) 3FTE, 2008

(2) SR, 2010
(3) Ma=R, 2014
4) 3, 2005
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128.

129.

130.

131.

132.

[A]

Which one of the following pair is not
correctly matched in context to Cold
War ?

Year Event
(1) 1947 — Truman Doctrine
(2) 1954 - Creation of SEATO
(3) 1955 — Creation of Baghdad
Pact
4) 1957 - Intervention of USSR
in Hungary

What was the condition of Indian
Agriculture Sector before independence ?

(1) Sustainable development
(2) Self-dependent

(3) Advanced

(4) Stagnation

"I may not agree what you say but I
shall die for your right to say it." Who
made this statement ?

(1) J.J.Rousseau (2) Voltaire
3) J.S.Mill (4) John Locke

A horizontal demand curve implies that

the elasticity of demand is :
(1) equaltoone (2) less than one
(3) zero (4) infinite

When was the National Green Tribunal
Act implemented for the purpose of
environmental protection ?

(1) August, 2008
(2) October, 2010
(3) September, 2014
(4) June, 2005

P.T.O.
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133.

134.

135.

136.

137.

s ¥, FEOH ¥ dN-d
TR arg & ?

(1) a9 % 633 & G
(2) &= 91T & AN
(3) SUHIT F AN

(4) Y RN & T B YA

Ry =& e & Taw-aoT & AR d
gﬁr%ﬁqﬁffﬁaﬁﬂ—w Fo T T
?

(1) & HAed-a-ger § gt T ot |
(2) 7= &9 7 g &

(3) T & 919 B H & o q Am
EERI

(4) 39 Ui 1 dd4E 2 BT 2|

Wh AT F oMUl YA Gaied
AT B

(1) 9T & afey bl

(2) ARG & Jeg = &l

(3) % G &% IUTHEH Hl

(4) ART % IULURT
@mﬁﬁaﬁﬂ-wwﬁﬁﬁamw T
(1) Sgn
(3) YUK " (4) BUHEG HIEA
Frafafad & § @e-a1 sFaad wranE
®AF T e 7
(1) Sefifera

(3) HrE

(2) 719

(2) cpiferer
4) THTd
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133.

134.

135.

136.

137.

Which one of the following is a variable
cost in the short run ?

(1) Payment of rent on building

(2) Cost of raw materials

(3) Cost of equipment

(4) Interest  payment on  past
borrowings

Which of the following statements is
not true about Dancing Girl Statuette of
Indus Valley Civilization ?

(1) It was found in Mohan-jo-Daro.
(2)
(3)

It is sculpted in bronze.

There are more than two dozens
bangles in the left arm of the
Dancing Girl.

“)
Speaker of the Lok Sabha addresses
his/her resignation to :

(1) President of India

(2) Chief Justice of India

(3) Deputy Speaker of Lok Sabha

(4) Vice President of India

The height of this statuette is 2 feet.

Which one is not a mathematical mean
in the following ?

(1) Mode (2) Mean

3) G.M. (4) H. M.

Which of the following is not an

intrusive volcanic landform ?
(1) Batholith (2) Lacolith

(3) Caldera (4) Phacolith



138.

139.

140.

141.

142.

143.

144.

Frefafad & @ $F-A1 T4 [T A
uigas d AR | foesfaal @ Hdfd
or 7

(1) #ra (2) B
3) HG=IA (4) =F=IC-1
i gt TRmeer e @

(1) dErE 3 (2) FE |
(3) WEEgH H  (4) HiE H
Frtifed & & fpas orfafta @t @ &
feie Tes § ?

(1) a& &l BT

(2) qeiad % & HAd

(3) did &l =E

4) ™

Frefafad & § @9-a1 U %8 7@
 ffia & 7

(1) = (2) T

(3) A (4) aEy
AHREE & N 9 ©

(1) g4, fem &ir daa

(2) gll, AHR AR qOHH

(3) faam, ol X @@

(4) H%d, ZEE SR T

G H QU HJT 7

(1) fod ey Frara e sifatre
(2) TRl fafma e sfafae
(3) feash Fria goedis &

4) = fafrgg e sifefg

Freaifed & & @F-81 g&& S o
N 78 foE g ?

(1) T &N 3ife SRed

(2) & df % diged

(3) dffciesa feretfersq

(4) Bfefasy T Wi
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138.

139.

140.

141.

142.

143.

144.

[A]
Which among the following Gupta
rulers maternally related to Lichhavis ?

(1) Shrigupta (2) Ghatotkachgupta
(3) Samudragupta (4) Chandragupta-I
of

The famous sculpture 'Descent

Ganga' is found at :

(1) Badami (2) Amaravati

(3) Mahabalipuram (4) Kanchi

All of the following are determinants of
demand except :

(1) Px

2) Py

(3) Quantity Supplied

(4) Income

Which of the following Stupa is built
in white stone ?

(1) Sanchi
(3) Amaravati

(2) Bharhut
(4) Sarnath
The three components of maps are :
(1) Distance, direction and symbol
(2) Distance, size and temperature
(3) Direction, shape and pressure
(4) Symbol, mass and speed

What is the full form of "FERA" ?

(1) Finance and Export Regulation Act

(2) Foreign Exchange Regulation Act

(3) Foreign Export Revaluation
Association

(4) Funds Exchange Regulation
Association

Which one of the following books has
not been written by John Rawls ?

(1) A Theory of Justice
(2) The Law of Peoples
(3) Political Liberalism
(4) Capitalism and Freedom

P.T.O.



[A]

145.

146.

147.

148.

149.

150.

TS STfeaee ®
(1) T erfeae
(2) ®Mq aiRa srefegawen
(3) Tt srdemawan

(4) @ IR eTfeTaE
AT AUSd ©

(1) Aved 1 = 9
(2) HUed H HUU AN
(3) qued &l frear arT
(4) T F HU G

7w UE A A H (TS Ae
B FHeM A FARHE d) &

qN] et 7
(1) 109, 19928 (2) 554, 1992 ¥
(3) 53, 19949 (4) 21 9=, 1994 &

Freafeieaa & I9-a1 g™ Ja7 © ?

P ST T
gl
(1) g™ — 78.08
(2) FHE SEefEEs — 0.0036
(3) SRS ~ 20.95
(4) A - 093

IA-faEl @ ‘fhaE-sa-fes MTRad
T Qg 9 H foe w B ?

(1) ®rE (2) T

3) T 4) 3

HehToll 9 B SR B 9 ?

(1) Qe 9 qEE & aiaes

(2) TF ST TEE

(3) % SR GdER

(4) UH J&TH TYEE
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145.

146.

147.

148.

149.

150.

Socialist Economy is a :

(1) Planned Economy

(2) Price Determined Economy
(3) Mixed Economy

(4) Profit Oriented Economy

Asthenosphere is :

(1) Lower portion of Mantle
(2) Upper portion of Mantle
(3) Lower portion of Crust

(4) Upper portion of Crust

UNFCCC (United Nations Framework
Convention on Climate Change) enters
into force from :

(1) 10 May, 1992 (2) 5 June, 1992
(3) 5June, 1994 (4) 21 March, 1994

Which of
incorrect ?

the following pair is

Gases Percentage of
Volume
(1) Nitrogen - 78.08
(2) Carbondioxide - 0.0036
(3) Oxygen - 20.95
(4) Argon - 093

Al-Biruni's 'Kitab-ul-Hind' is written in
which of the following language ?

(2) Arabic

(4) Urdu

(1) Persian
(3) Turkish

Who were 'Banjara' in Medieval India ?
(1) Transporter of goods such as grain
(2) A warrior community
(3) Dancers and Musician
(4) A Muslim community

Level-2/3212



6.

Ul b SR, SR UFh A HUiRd @™ Bl dret /N
dfd wrge 9 ¥ giaar AT g, o fs A e

TR
O @ ® @

6. Answers to questions in answer sheet are to be given by

darkening complete circle using Black/Blue ball point pen
as shown below :

© @& © ®

The answer will be treated wrong, if it is marked, as given below :

O ® & >

If you fill more than one circle it will be treated as a wrong
answer.

ERT T T3 SR Tad AT SO, Ife SR dTel
@ﬁaﬁﬁﬂwﬁmﬁ%

O R & @
I T A ST Wl Bl MR T & Al 3BT SR Tod
HET ST |

10.

11. U=

12.

13.

14.

15.

16.

17.
18.

19.

20.

. % B W—gﬁﬂrbl # 39 o & forg & E @relt SFE W & &Y | (Rough work should be done only in the space

provided in the Question Booklet for the same.)

. T IR Bad OMR TR U6 R 81 3ifdhd &Y | 30 IR &IHYdd 2Afhd T | IR g =g 29d Joidh (ABE Fogs) Bl

T g ® (The answers are to be recorded on the OMR Answer Sheet only. Mark your responses carefully. Whitener
(white fluid) is not allowed for changing answers.)

LIS T @ forg R U AR Reedt 3 9 Sfd fdwen & folg OMR STR 99@ &R &ad Ud gd & & g4 aRE el / Blet

dfcl Wrse 9 9 W TP IR IR 3ifhd P B 9IS S ISl T8l S Fbal B | (Out of the four alternatives for each
question, only one circle for the most appropriate answer is to be darkened completely with Blue/Black Ball Point Pen on the
OMR Answer Sheet. The answer once marked is not allowed to be changed.)

el gHARad o {6 59 SR 45d B Aiel 9 WY Td I R BIg 31 e 7 M | 3ngedi =1 el SR U3d
# feiRa v @ srfaRad e=u 7 foRd | (The candidates should ensure that the Answer Sheet is not folded. Do not make
any stray marks on the Answer Sheet. Do not write your Roll No. anywhere else except in the specified space in the Answer
Sheet.)

—gRAPT T IR TS HT SAFYED JANT By, Fifd B aRRefT # (ge—gRaer wd SR w96 & wAie 3 e
B! RAT BT BredR) T YT YRAST T ST T8l HYATs WG | (Handle the Question Booklet and Answer Sheet with
care, as under no circumstances (except for discrepancy in Question Booklet and Answer Sheet Serial No.), another set of
Question Booklet will not be provided.)

TA—YRATHT /IR U5F H f3Q T HHIG BT el el da F gwdeR aic H fod | (The candidates will write the correct

Number as given in the Question Booklet/Answer Sheet in the Signature Chart.)

gl B URIET B/ BeT H YA UF AR UgAM U & SfIRE Bl THR B qreadEd, gfad a1 sxifoiad drTel 3
Ufedf, SR, AaIgd WH, Sdgiid UG AT B 3 UBR B GEEH DI of S IT STANT HRA DI AT 8T © |
(Candidates are not allowed to carry any textual material, printed or written, bits of papers, pager, mobile phone, electronic
device or any other material except the Admit Card and Identity Card inside the examination hall/room.)

TfId gRT 8 oM W YIS gl 3T gawr dre ([ o) 3R uga™ ux Wi | (Each candidate must show on
demand his/her Admit Card (Roll No.) and identity card to the Invigilator.)

P efetd AT Tded B A SH‘T% P 77 PIE el JmuFT I |7 B | (No candidate, without special permission of

the Superintendent or Invigilator, should leave his/her seat.)

PRIRT GAdETH BT AU IR UAB QU 1 v AR A€ R SEART BIER [Py 97 angefi uden g 7€ v | Ay
el el 1 A IR EWER A1 W BWER el by A1 g AMI SN fh S99 SR U3d 8] dlerl & AR I8
Tfad | & AT AT STYT | OMR SR U3d § FuiRa o w | anafdiat grr 9 w19 & o &1 feme
wrrmmélw@m%wﬁwwmmmwmﬁﬁw@ﬁwﬁﬁwﬁmmﬁwﬁaﬁ
qEAT 7A@ E|§T‘f AITTH §8d ®H | (The candidates should not leave the Examination Hall without handing over
their Answer Sheet to the Invigilator on duty and signing the Signature Chart twice. Cases where a candidate has not signed the
Signature Chart second time will be deemed not to have handed over the Answer Sheet and dealt with as an unfair means case.
All candidates have to affix left hand thumb impression on the OMR answer sheet at the place specified which should
be properly inked i.e. they should not be either over inked or dried in nature.)

golagid / gxcarferd URderd &1 SUANT afSid & | (Use of Electronic/Manual Calculator is prohibited.)
et Bt # MmeRvr & forg, apwneff fyarforast # & 13 ufhan / feen—fder g 98 & it el vd fftgst & Ry s < |
31‘3’%1?[ R e IOl e o ) B Re T IR IO ot R ol 1 o | AR 8FTT| (The candidates are governed by

Guidelines/Procedure given in the Information Bulletin, all Rules and Regulations of the Board with regard to their conduct in
the Examination Hall. All cases of unfair means will be dealt with as per Rules and Regulations of the Board.)

A BT H U IJDT AR SR Y=Ib BT I W AT T BN | (No part of the Question Booklet and Answer Sheet shall
be detached under any circumstances.)

Wl T 8 W, gl Fe /B Bled W Yd SR UFG HE-UUdAS BT @A WU | gl o W s
W—W P o ST A& €| (On completion of the test, the candidate must hand over the Answer Sheet to the Invigilator
in the Room/Hall. The candidates are allowed to take away this Question Booklet with them.)
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